Extension work Year 10 Sets 3-7

Answers are given below


You could try some from each section for practice. If you are struggling, you could go to MathsWatch and watch the clip.
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Inverse Operations

1) a) Which operation is the inverse of ‘add'?

b) Which operation is the inverse of ‘divide?

2)  Use inverse operations to complete the second equation each time.

A 12+6=18 —>» - =12

B 28-13= 15— [ ]=28

3)  Use inverse operations to complete the second equation each time.

a) 14 x2=28 —> + =14

b 60+ 12=5 —>» x = 60
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5)

Use inverse operations to complete the second equation

each time.

D19+ 13=32——>

=19

b 46 -13=33 ——>

= 46

Use inverse operations to complete the second equation

each time.

W 28:7=4 —n

b) 16 x3=48 ——>
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1) Tony buys

4 kg of potatoes at £1.60 per kilogram
and
2 kg of onions at £1.80 per kilogram.
She pays with a £20 note.

How much change should she receive?

2)

Bags of sweets

£1.50 per bag

Buy 3, get 1 free

Money Questions
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& 3 Cinema Prices

Adult £2.99
Child £230
Family ticket
(2 adults and 2 children | £

) 1adultand 7 children went to the cinema.

How much did they pay altogether?

b) 2 adults and 2 children went to the cinema and bought a family ticket.

How much did they save altogether?
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Negatives in Real Life

1) Atmidnight, the temperature was -7°C.

By 7am the next morning, the temperature had increased by 6°C.

) Work out the temperature at 7am the next morning.

Atmidday, the temperature was 3°C.

b) Work out the difference between the temperature at midday and the temperature at midnight.

©) Work out the temperature which is halfway between -7°C and 3°C.

2)  Thetable below gives the temperature recorded on 25th December in 7 cities across the world.

City

[Edinburgh]

London

[New York|

Moscow

Paris

Rome

Cairo

Temperature

-6°C

0°C

-15°C

-23°C

3°C

5°C

18°C

) Which city recorded the lowest temperature?

b) Whatis the difference in temperature between New York and Paris?

©) Whatis the difference in temperature between Cairo and Edinburgh?

d) The temperature in Madrid was 9°C lower than in Rome.
‘What was the temperature in Madrid?





image10.png
) The temperature in Mexico City was 6°C higher than in New York.
‘What was the temperature in Mexico City?

3)  The table shows the temperature on the surface of each of five planets.

Planet Temperature
Venus 210°C
Jupiter -150 °C
Saturn -180 °C
Neptune 210°C

Pluto 230°C

) Work out the difference in temperature between Jupiter and Pluto.
b) Work out the difference in temperature between Venus and Saturn.
©) Which planet hasa temperature 30°C lower than Saturn?

‘The temperature on Mars is 90°C higher than the temperature on Jupiter.
d) Work out the temperature on Mars.
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Introduction to Fractions

1) What fraction of each of the following shapes is shaded?
a b)

= ==

4 © H

©
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2)

3)

‘Shade the given fraction in the following grids.

3 1 4
5 1 6
. 51
Whichof these ractons i thesmallest? % 0r o (use the grids to help)
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Equivalent Fractions

Each of the grids below has a fraction written at the side of it.
a) Shade the grids to show these fractions.

b) What do you notice abouthow many litle squares are shaded in each grid?

Each of the grids below has a fraction written at the side of it.
a) Shade the grids to show these fractions.

3 3
0





image14.png
b) What do you notice abouthow many litle squares are shaded in each grid?

3)  Findthe missing values in these equivalent fractions.

1 2 3 4

2 0O 0 0O

4

2 6 [ 14

5 0O 30 O

5)  Howdo youknow that % s not equivalent to % 2
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Simplification of Fractions

‘Write the following fractions in their simplest forms

a)

b)

)

d

e
1

Gls ela ol 3|w

Slee

il
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‘Wite the following fractions in their simplest forms

a)

b)

)

9

X
30

14
5
z
g
E]
7
&
7
15
77

2
%
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Half-Way Values

1) Wite down the number which is in the middle of:

) 3and9

b) 12and 28

©) 11and22

d) 17and 32

©) 72and 108

9 land 100

@ -6and2
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‘Write down the number which is in the middle of:

) 24and 6.8

b) 5.9and 12.5

©) -5and 7.8

a) 7isinthe middle of 3 and which other number?
b) 16is in the middle of 9 and which other number?

©) 24isinthe middle of 1.1 and which other number?
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Factors, Multiples and Primes

1) Write the factors of
26 b) 16 018 430

2) Inapupil’s book the factors of 12 are listed as
12345 12

‘The above list contains a mistake.
Crossit out from the list and replace it with the correct number.

3) The factors of 30 and 40 are listed
30: 1,2,3,5,6,10, 15,30
.2.4,5.8,10,20,40

‘Write the common factors of 30 and 40 (the numbers that are factors of 30 and 40).

4) Write the first four multiples of
a)3 b)s o 10 415
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5) Inapupil’s book the first 7 multiples of 8 are listed as
8 16 22 32 40 48 54

‘The above list contains 2 mistakes.
Cross them out and replace them with the correct numbers.

6) The first five multiples of 4 and 10 are listed

4.8,12,16,20
0,20, 30,40, 50

1
From the two lists above, write the common multiple of 4 and 10.

7) Listthe firstfive prime numbers

8) Usingjust his listof numbers:
o181 4 210 024 93 12 219
find he following:

) The prime numbers
b) The factors of 18
) The multiples of 3




image21.png
[©MathsWatch]

n

2)

3)

Introduction to Powers/Indices

‘Wiite the following using indices:

eg3x3x3x3=3

2)2x2x2x2 A 12x12x12x12% 12
b)ax4x4 €3.6%36
€)5x5x5x5x5%5 052x52x52
‘Wite each of the following as a single power:

eg 5 x 5 =50

a) 6' % 6" 45 x5

b7 x 7 2 x2

€9 x 9 0722x72
‘Wite each of the following as a single power:

g P =T

299 d)f
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5)

b6 =6 97
Q=11 L
.

‘Wite each of the following as asingle power:
PP

7 7

7

e

o

y

Matchtogether cards with the same answer

5 sixs B 5
3

5 5x5 BEE 5% 59 5
5
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Multiply and Divide by Powers of 10

1) Multiply the following numbers by 10, 100 and 1000z

x10 *100 x1000
eg 21 210 2100 21000

9

63
845
3.65
04
1324

2)  Divide the following numbers by 10, 100 and 1000:

+100 +1000
0.21 0.021

eg 21

63
845
3.65
04
1324
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3)  Workout the following:
3%100=
65x10=
17+10=
359 % 10=
0.5+100=
2.3%1000 =
42+100=
3582+ 100 =
0.9%10=
3.645 % 100 =
88+ 1000 =

39.62 % 1000 =
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(OMaths Watch Rounding to the Nearest 10, 100, etc

1) Round these numbers to the nearest 10:
) 26
b) 62
Q75
4 231
) 797
9 5842
2 9875
B 13758
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2)  Round these numbers to the nearest 100:
a) 78
b)223
©) 549
d) 1450
) 1382
9 4537
29193
b) 17625

3)  Round these numbers to the nearest 1000z

a) 850

b) 1455
©) 3230
d) 7500
©) 8455
9 9690
2 12390
h) 28910
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Rounding to Decimal Places

1) Round the following numbers to | decimal place
a) 13.681 b) 3447234 ©) 076133

2)  Roundthe following numbers to 2 decimal places
a) 58.8136 b) 1422731 ©) 203.86884

3)  Roundthe following numbersto | decimal place
a) 489732 b) 163.9299 ©) 19.952

4) Roundthe following numbers to2 decimal places
) 10697 b) 8.993 ©) 149964
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6)

8)

Work out the answer to 2.6882  14.71728 and give your answer
correct to 2 decimal places.

‘Work out the answer to 64.2-
comrect to | decimal place.

7 and give your answer

‘Work out the answer to 4.74" giving your answer correct
t02 decimal places.

Find the answerto /73 giving your answer correct
to 1 decimal place.




image29.png
[CMathsWatch] Simplifying - Addition and Subtraction

1) Simplifythe following

a) xtx
b) 2+
o 5-3t
4 Ty-6y
© x+2c+3x
D 3g-grbg
9 -Tr+g

b y-2y-3y+6y
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3)

implify the followi
a3y

b Sy-2yp

o dxy+xy

9 3vi-20°

@ 20y +dry -3y

D 6atbet +Sabci - 2abet

Simplifythe following

@) xtyexty

b)  2x+dyrxedy
© 2a+db-a+2b
) Bxedy-x-2y
@  6x-2y+2r+5y
D 4r-3y-2c-5y
@ 3+du+2-Tu
B 2g a4
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2

Simplify the following
a) xxx

b) xxxxxxxxx

€ yxyxy
Simplify the following
2 xxax

b xxat

o yxy

4 @xxxx

oy

Simplifying - Multiplication
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4

Simplifythe following
a)  2rxx
b) drx3x
o 3x2u
& Arx3y
©  xx2exdr

Simplifythe following
Q) xxy

b 2xx3y

O Srx2sx3t
4 Grx2yxz
Simplifythe following
@ 3xxy

b ayxax

ERE
d) 6oy xxy x2y
O 20 x ey

0 oatx fux A
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n

2

3

Simplify the following
2 6rex

b) 1253

o 10g7+2g

Simplifying - Division
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5)

Simplify the following
Xxx

o oxxt
Yix

x5y
sy

Simplify the following
a) 200+ 5¢°

1437
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2)

3)

) Simplify
b) Simplify

<) Simplify

2) Simplify

b)Simplify

2) Simplify
b) Simplify
<) Simplify

&) Simplify

4px6g
dxdxdxd

Pep

da+3c-2a+c

20— 6c-x+2c

Sxt-+ 2xt—4xt
4x+3y-2v+dy
mxmxm

3nx2

Simplifying

8) a)Simplify 3a+5c—a+3c
b) Simplify x* xx*

©)Simplify 4xy*x 5x°
9) Simplify 6r+8y+2x—10y

10) a) Simplify xxxxxxx

b) Simplify 2xx 3y

11) a)Simplify pg-+2pg

b) Simplify  Sx+3y—x—4y

12) a)Simplify 6a+5b-3b+a

b) Simplify ¥ ¢
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4) Simplify 3x*x 4x%y*

5) Simplify 4x+3y—2v+6y

6) a)Simplify ¢'x1*

b) Simplify axaxa

7) a) Simplify 2%

b)Simplify 105y +25°

13) a) Simplify

b) Simplify

14) a) Simplify

) Simplify

15) a) Simplify
b) Simplify
<) Simplify

@ Simpliy

xtytatytx

peier

axa

3y < 4y
2

3d+e-d+de

3 -x?

5t+8d-2-3d

Gx+1y
Grr 1)
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Work out

a) 13x18 234

b) 135 %27
© 116x 41
d) 264 343
€ 32624
9 281%59
£ 286 %48
) 428 x 34

i) 461 %45

3645

4756

11352

7824

16579

13728

14552

20745

Multiplying Integers
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2

3)

4

3

“MathsWatch Travel” has 36 coaches.
Each of these coaches can carry 53 passengers.
How many passengers in total can ll the coaches carry? 1908

“MathsWatch Tours” has a plane that will carry 47 passengers.
To fly from Manchester to Lyon, each passenger pays £65
Work out the total amount that the passengers pay. ~ £3055

A Science textbook costs £13.
Mr Jones buys a class set of 34 books.
How much do they costhim? ~ £442

A graphical calculator costs £18.
How much would 43 calculators cost? £774
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n

2)

3)

4

Dividing Integers
Work out
) 325+5 65 4 377+29 13 9 75+4 1875
b)448+8 56 €27+6 45 b 135+20 6.75
©221+13 17 D 123+15 82 ) 38112 3175
Aboxcanhold 19 books.

Work out how many boxes will be needed to hold 646 books. 34

‘The distance from Glasgow to Parisis 1290 km.
A flight from Glasgow to Paris lasts 3 hours.
Giventhat

tverage speed — Distance

‘Work out the average speed of the aeroplane in km/h. 430 km/h

Time

Pencils cost 25p each.
Mr Smith spends £15 on pencils.
‘Work out the number of pencils he gets. 60
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5)

6)

8)

9)

Yesterday, Gino was paid £19.61 for delivering pizzas.
Heis paid 53p for each pizza he delivers.
‘Work outhow many pizzas Gino delivered yesterday. 37

‘Emma sold 38 teddy bears for a total of £513
She sold eachteddy bear for the same price.
‘Work out the price at which Emma sold each teddy bear. £13.50

Canal boat for hire

£1855.00
for 14 days

‘Work out the cost per day of hiring the canal boat. £132.50

Ateacher has £539 to spend on books.
Each book costs £26
‘How many books can the teacher buy? 20

John delivers large wooden crates with his van.
‘The weight of each crate is 68 kg.

‘The greatest weight the van can hold is 980 kg.

‘Work out the greatest number of crates that the van can hold. 14
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2)

3)

Inverse Operations

a) Which operation is the inverse of ‘add"? Subtract

b) Which operation is the inverse of *divide’? Multiply

Use inverse operations to complete the second equation each time.

A 12+6=18 — |18 | - [6 | =12

b)) 28-13=15—— |15| + [13| =28

Use inverse operations to complete the second equation each time.

A 14x2=28 —» |28| = [2 | =14
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3)

4

5)

Use inverse operations to complete the second equation each time.

A 14x2=28 —» |28| = [2 | =14

b 60+12=5 ——» |5 | x [12|= 60

Use inverse operations to complete the second equation each time.

) 19+13=32—— (32| - [13| =19

5 46-13=33 — [ | + [13] = 46

Use inverse operations to complete the second equation each time.

a) 28+7=4 ——m> |4 x |7 [ =28

B 16x3=48 — (48| + [16| =3
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o _Cip2 | Money Questions

1) Tony buys
4 kg of potatoes at £1.60 per kilogram
and
2 kg of onions at £1.80 per kilogram.
She pays with a £20 note.

How much change should she receive? £10

2)
Bags of sweets

£1.50 per bag

Buy 3, get 1 free

How many bags of sweets can you buy for £9? 8
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Cinema Prices

Adult £2.99
Child £230
Family ticket
(2 adultsand 2 children | £

) 1adultand 7 children went to the cinema.

How much did they pay altogether? £19.00

b) 2 adults and 2 children went to the cinema and bought a family ticket.

How much did they save altogether? £1.58
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Negatives in Real Life

1) Atmidnight, the temperature was -7°C.

By 7am the next morning, the temperature had increased by 6°C.
) Work out the temperature at 7am the next moming.  -1°C

Atmidday, the temperature was 3°C.
b) Work out the difference between the temperature at midday and the temperature at midnight. 10°C

) Work out the temperature which is halfway between-7°Cand 3°C.  -2°C

2)  Thetable below gives the temperature recorded on 25th December in 7 cities across the world.
City [Edinburgh| London |New York| Moscow | Paris | Rome | Cairo
Temperature| -6°C o°c_| -1sec | 23°c | 3°C 5°C 18°C

) Which city recorded the lowest temperature? ~ Moscow
b) Whatis the difference in temperature between New York and Paris? 18°C
©) Whatis the difference in temperature between Cairo and Edinburgh?  24°C

d) The temperature in Madrid was 9°C lower than in Rome.
What was the temperature in Madrid? ~ 4°C
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3)

) The temperature in Mexico City was 6°C higher than in New York.
‘What was the temperature in Mexico City?  -9°C

The table shows the temperature on the surface of each of five planets.

Planet Temperature
Venus 210°C
Jupiter -150 °C
Saturn -180 °C
Neptune 210°C

Pluto 230°C

) Work out the difference in temperature between Jupiter and Pluto. 80°C
b) Work out the difference in temperature between Venus and Saturn.  390°C
©) Which planet hasa temperature 30°C lower than Satum? Neptune

‘The temperature on Mars is 90°C higher than the temperature on Jupiter.
d) Work out the temperature on Mars. -60°C
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Introduction to Fractions

1) What fraction of each of the following shapes is shaded?

1 1
R K 3 ©
1
4 2 e H 3
3 8
5
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2)

en fraction in the following grids.

ENES

3)

s |
Which of these fractions is the smallest? & or| 5

(use the grids to help)
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Equivalent Fractions

1) Eachofthe grids below has a fraction written at the side of it.
a) Shade the grids to show these fractions.

b) What do you notice abouthow many litle squares are shaded in each grid?

Itis always the same - 8 squares.

2)  Eachofthe grids below hasa fraction written at the side of t.
a) Shade the grids to show these fractions.

Ea
0
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b) What do you notice abouthow many litle squares are shaded in each grid?

Itis always the same - 8 squares.

3)  Findthe missing values in these equivalent fractions.

1 2 3 4
6] [g]

4)  Findthemissing values in these equivalent fractions.

2 6
5 hal
5)  Howdo youknow that 7 s not equivalent to 22 2

You have to multiply 7 by 8 to get 56, but when you mulitply 3 by 8 you get 24, not 25.
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Simplification of Fractions

‘Write the following fractions in their simplest forms

a)

b)

)

d

Slo &l

Gls ela o=

Slee

il

o oo als o el N Nl
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‘Wiite the following fractions i their simplest forms

a)

b)

)

d

X
30

14
5
z
g
a8
7
&
7
15
77

2
%

3
10

Ao o als ol <= ol
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b uch Half-Way Values

1) Wite down the number which is in the middle of:

2)3and9 6

b) 12and 28 20

¢ 1land22 165

d)17and32 245

© 72and 108 90

) land 100 50.5

o 6and2 -2
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‘Write down the number which is in the middle of:

a) 24and 68 4.6

b)59and 125 g2

o -5ad78 14

a) 7isinthe middle of 3 and which othernumber? 11

b) 16is in the middle of 9 and which other number? 23

©) 24isinthe middle of 1.1 and which other number? 3.7
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D

Work out
@) 13%18
b) 135 %27
© 116x 41
d) 264 343
€ 32624
9 281%59
£ 286 %48
) 428 x 34

i) 461 %45

Multiplying Integers
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Factors, Multiples and Primes

1) Write the factors of
26 b) 16 018 430
1,236 1,2,4,816  1,2,3,6,9,18 1,2,3,5,6,10,15,30
2) Ina pupil’s book the factors of 12 arelisted as
1234% 12
Theabove list contains amistake.
Cross it out from the list and replace it with the correct number.

3) The factors of 30 and 40 are listed.
30: 1,2,3,5,6,10, 15,30
40: 1,2,4,5,8,10,20,40

‘Write the common factors of 30 and 40 (the numbers that are factors of 30 and 40).

1,2,5,10
4) Wite the firstfour multiples of

23 bs 910 a15
3,6,9,12 510,15,20  10,20,30,40  15.30,45,60

5) Inapupil’s book the first 7 multiples of 8 are listed as

8 16 R 32 40 48 54
24 56
‘The above list contains 2 mistakes.

Cross them out and replace them with the correct numbers.




image56.png
6) The first five multiples of 4 and 10 are listed

4 4,8,12,16,20
10: 10,20, 30, 40, 50

From the two lists above, write the common multiple of 4 and 10.
20

7) Listhe firs five prime numbers
2,3,57,11

8) Usingjust his listof numbers:
I8 1 4 20 24 9 3 12 2 19
findthe following:
a) The prime numbers 11, 3, 2, 19
b) The factorsof 18 18, 1, 9,3, 2
) Themultiplesof3 18, 21, 24, 9, 3, 12
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n

2)

3)

‘Wiite the following using indices:

eg3x3x3x3=3

@)2x2x2x2 24 A 12x12x12x12% 12
b)axdx4 48 €36%36 362
€)Sx5x5x5x5x5 56 f)52x52x52 523
‘Wite each of the following as a single power:

eg 5 x 5 =50

26 x6 6 dsixs 50
BT 78 Q2 x2 22

)9 x9 go 0722x722 725

‘Wite each of the following as asingle power:
g 7T =7

a9=9 g2 rl);—, I

Introduction to Powers/Indices

125
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4

5)

b6 =6 gt 9T 35

3
g
W11 445 3 g
< 1 .
‘Wite each of the following as asingle power:
Bxp o,
g it
4 x4 9 x9°
) 4 b g
Matchtogether cards with the same answer
5 56 5 5 5
=
5 5x5 BEE 5% 59 5
5
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1) Multiply the following numbers by 10, 100 and 1000z

eg

21

9

63
845
3.65
04
1324

x10
210
920
630
8450
36.5
4
13.24

Multiply and Divide by Powers of 10

*100
2100
900
6300
84 500
365
40
1324

x1000
21000
9000
63 000
845 000
3650
400
1324

2)  Divide the following numbers by 10, 100 and 1000:

eg

21

9

63
845
3.65
04
1324

<10
21

0.9
6.3
845
0.365
0.04
0.1324

+100
0.21
0.09
0.63
8.45
0.0365
0.004
0.01324

1000
0.021
0.009
0.063
0.845
0.00365
0.0004
0.001324
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3)  Workout the following:

3x100= 300
65x10= 650
17+10= 17
359x10= 3590

05+100=  0.005
23x1000= 2300
42+100= 042
3582+100= 35.82
09x10= 9
3.645100= 364.5
88+1000= 0.088

39.62 % 1000 = 39 620
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Rounding to the Nearest 10, 100, etc

1) Round these numbers to the nearest 10:

) 26
b) 62
Q75
4 231
) 797
9 5842
2 9875
b) 13758

30

60

80
230
800
5840
9880
13760
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2) Round these numbers to the nearest 100:
978 100
b)223 200
© 549 500
d) 1450 1500
© 1382 1400
9 4537 4500
29193 9200
h) 17625 17600

3)  Round these numbers to the nearest 1000z
2)850 1000
b) 1455 1000
© 3230 3000
d) 7500 8000
©) 8455 8000
9690 10000
2 12390 12000
1) 28910 29 000




image63.png
Dl

2)

3)

4

Rounding to Decimal Places

Round the following numbers to 1 decimal place

a) 13.681 b) 3447234 ©) 076133
137 3447 08

Round the following numbers to 2 decimal places

a) 58.8136 b) 1422731 ©) 203.86884
58.81 14.23 203.87

Round the following numbers to 1 decimal place

a) 489732 b) 163.9299 ©) 19.952
49.0 163.9 20.0

Round the following numbers to 2 decimal places

) 10697 b) 8.993 ©) 149964
10.70 8.99 15.00
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Work out the answer to 2.6882  14.71728 and give your answer
comrect to 2 decimal places. 39.56

‘Work out the answer to 64.2+ 5.7 and give your answer
comect to | decimal place. 11.3

‘Work out the answer to 4.74" giving your answer correct
to2decimal places. 22 47

Find the answerto /73 giving your answer correct
o decimal place. ,
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“MathsWatch Travel” has 36 coaches.
Each of these coaches can carry 53 passengers.
How many passengers in total can all the coaches carry?

“MathsWatch Tours” has a plane that will carry 47 passengers.
To fly from Manchester to Lyon, each passenger pays £65
‘Work out the total amount that the passengers pay.

A Science textbook costs £13.
Mr Jones buys a class set of 34 books.
How much do they cost him?

A graphical calculator costs £18.
How much would 43 calculators cost?
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Simplify the following

@)  xtx  2x

b) 23 Bx

o S5-3 2t

4 Ty-6 y

© x+2r+dr 6y
D 3g-g+6g 89
9 2-Tx+& 3y

b y-2y-3y+ey 2y

Simplifying - Addition and Subtraction
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Simplify the following

2 w+dy dxy

b So-20 3y

9 ARy sy

9 3wi-207 w2

QO YAy -3y 3ey
D 6atbct +5abci~2abe  Qatbet
Simplify the following

a) xty+txty 2x+2y
b) 2x+dytxedy Bx+Ty
© 2a+db-a+2b a+6b
&) Bx+dy-x-2y  2x+2y
© 6x-2yp+2+Sy  Bx+3y
D 4x-3y-2-5 2x-8y
@ M+du+u-Tu  5t-3y
B 2g+3-xy-dr xy-t
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Simplify the following
@ xxx £

b) xxxxxxxxx

Q) yxyxy p

Simplifythe following
B dxxr g
b xxxt 6
9 ¥y oy
4 xxxx X
9 perr y

Simplify the following
Q) xx 2

b dxx3r 126

¢ 3Exxu 6t

4 apxyt 120
€ xx20x3 By

Simplifying - Multiplication
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Simplify the following
) xxy xy

b 2x3y bxy

©  Srx2sx3t 30rst
& 6xx2yxz 12z

Simplify the following
9 rxy 3y

b Axyx2x exy

€ 307 %207 BxY

& Gy xErxly 126y
9 2 xSy 100y
D wtxPuxdm 4t
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Simplifying - Division
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Simplify the following

9 2X2
X oxxt
b) T x

sy
9 Gy K

Simplify the following
2) 20vse  ax
b W g

B2 e
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) Simplify
b) Simplify

<) Simplify

2) Simplify

b)Simplify

2) Simplify
b) Simplify
<) Simplify

&) Simplify

4px6q 24pq
dxdxdxd d¢

perofs

da+3c-2a+c 2a+4c

—6c-x+2 x-4c

Sxt+2v—4xt 3¢t
4x+3y-2r+dy 24Ty
mxmxm m®

3nx2  6nt

Simplifying

8) a)Simplify 3a+5c—a+3c 2a+8c
b)Simplify ¥ xx' X

o) Simplify 4xy'x 507 20xy°
9) Simplify 6r+8y+2c—10y 8x-2y

10) a) Simplify xxxxxxx  Xx*

b)Simplify 2xx3y  6xy

11) a)Simplify pg+2pg  3pg

b)Simplify Sx+3y-x-4y  4x—y

12) a)Simplify 6a+5h-3b+a 7a+2b
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4) Simplify 3x*x4x%y*  12xy*

5) Simplify 4x+3y-2x+6y  2x+9y

6) a)Simplify xr t°

b) Simplify axaxa &

7) a)Simplify xxx  x°

bySimplify 106272 5xy?

13) a) Simplify

b) Simplify

14) a) Simplify

b) Simplify

15) a) Simplify
b) Simplify
<) Simplify

@ Simpliy

xtytxtytx  3x+2y

prerE 3

axa &

Iy At gy

e

3d+e-d+4e  2d+5e
-2t 2%

5t+8d-20-3d  3t+5d

Gxr 1y
G GrrR
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Dividing Integers
1) Workout
) 325+5 d)377+29 9754
b) 448+ 8 €27+6 ) 13520
o 2113 D 123+15 P 381=12

2)  Aboxcanhold 19 books.
Work out how many boxes will be needed to hold 646 books.

3)  Thedistance from Glasgow to Paris s 1290 km.
A flight from Glasgow to Paris lasts 3 hours.
Giventhat

tverage speed — Distance

‘Work out the average speed of the aeroplane in knvh.

Time

4) Pencils cost 25p each.
Mr Smith spends £15 on pencils.
‘Work out the number of pencils he gets.




image4.png
5)

6)

8)

9)

Yesterday, Gino was paid £19.61 for delivering pizzas.
Heis paid 53p for each pizza he delivers.
‘Work out how many pizzas Gino delivered yesterday.

‘Emma sold 38 teddy bears for a total of £513
She sold eachteddy bear for the same price.
‘Work out the price at which Emma sold each teddy bear.

Canal boat for hire

£1855.00
for 14 days

‘Work out the cost per day of hiring the canal boat.

Ateacher has £539 to spend on books.
Each book costs £26
‘How many books can the teacher buy?

John delivers large wooden crates with his van.
‘The weight of each crate is 68 kg.

‘The greatest weight the van can hold is 980 kg.

‘Waork out the greatest number of crates that the van can hold.




